Efficiency vs. dz (PV) [_Efficiency (tracking eff factorized out) vs. dz (PV) ]

< 0.2p 1.
g F st
So.18 = I
S = L
50.16 g
3o.14 =
0 2 0.8H-
& o8p
$o1 5 F
z k] g
50 £ o6
L L
5o 0.4f
0.0 Ar
0.0 oot
0.0 [
S P P PO | ST T FITE DU PR P
g +# g+
I =1 :
@ o ! .
0% 701 02z 03 04 05 06 0% oI 0z 03 04 05 06
Cut on dz(PV) (cm) Cut on dz(PV) (cm)
—"— DQM_beforePR
| Fake ratq —— DQM_correctCheck
038

Pileup rate vs. cut on dz(PV)

Ratio

0 01 02 03 04 05 06 0% 01 02 03 04 05 06
Cut on dz(PV) (cm) Cut on dz(PV) (cm)



	Contents
	Page 1


